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Z.No &R g K4 VM 1st Run 2nd Run =X ERAE L
1 [ /hRUR) — % LD LTE 9% 14h 55.36 56.59 111.95 1
2 | IMEUR) — % HTH RS INEEIN DF 61.84
INESEEG-56FE)DER
ZNo &B [Fid K& Zu 1st Run | 2nd Run =1 BB ARNIE L
3 | MEGE) — % HELERE N VEREUL 38.26 37.55 75.81 1
4 | INEE) —fi% Frrrigs /L7 1% 48.62 47.85 96.47 2
REAE(BF)DOE
ZNo &8 [SigE K4 YM 1st Run | 2nd Run &% ERANE L
5 | HEE) — % FE KX Jt 194 41.98 41.69 83.67 1
TF4ER
Z.No &R i@ K4 VM 1st Run | 2nd Run =X BB
6 | ZF4E| RTUYUb FHEF D) DZ NS 3455 34.96 69.51 1
7 | ZF4EB — % @ BF VAAEDN 40.12 41.06 81.18 2
8 |&TF4ER| RTUUk mAEF 1¥47 /773 4116 41.45 82.61 3
9 | ZF4E| RTYUb BmARBF ARF 193 43.23 41.75 84.98 4
T 3R
Z.No &R [SigE K4 VM 1st Run | 2nd Run =k ERANIE L
1| =ZF3E| RTUb RHEBF )2 41.51 4414 85.65 1
13 | TF3ED —fi% FMILF NN 5 42.83 43.58 86.41 2
12 | mF3EB — & HLEERTF 94 hta 43.43 44.10 87.53 3
10 | %XF38| BILERE BINEF | Y757 Yava | 56.32 57.91 114.23 4
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B F5&8
Z.No :i g K4 VM 1st Run | 2nd Run =X ERAE L
15 | BF588 | RTUb EIRESN | A9Yh Ry 44.89 39.32 84.21 1
16 | BF5E | vR4—X | FERE 737 YRV 51.67 51.92 103.59 2
14 | BF58 | BHIERR MNEHE | 49F 4t 51.70 66.39 118.09 3
BF4E0
ZNo =i [SigE K4 YM 1st Run | 2nd Run &% ERANE L
17 | BF488 | =UtELU | BIFER W Y 32.78 32.47 65.25 1
18 | BF488 | RTUE FEIE— | 2% Yau F | 34.09 34.95 69.04 2
19 | BF48 | RTUUE | KARES | #1498 YA+ | 36.73 36.35 73.08 3
20 | BF4EB| TUERLULN | BH R ¥h1 743 DS DS
5B F3EB
Z.No =i [SigE K4 VM 1st Run | 2nd Run =k ERAIE L
21 | BF3EB — % pi:3 1S VLR VES 31.35 32.21 63.56 1
22 | BF3ER| BIEMEE | NEE—Z | YIH'Y hAEM| 31.94 3255 64.49 2
25 | BF3ED — % i &A Jt PN 33.32 33.46 66.78 3
30 | BF3E| RTYUE KB = A 2yek 33.42 33.92 67.34 4
24 | BF3E| RTYUE mMEMH | 1FL7 MY 33.78 33.90 67.68 5
23 | BF3EB — % KEEX | 4447 794 36.87 39.02 75.89 6
28 | BF3E| RTUUE BE—  |75FA Vav4F| 39.06 38.68 77.74 7
27 | BF3E| RTYUE EEEE | 17 ETH 40.81 4245 83.26 8
29 | BF3E| TH/ELUL A & YYEh TN 44.98 43.00 87.98 9
BF1E8
Z.No B [SigE K4 VM 1st Run | 2nd Run =k ERANIE L
31 | BF1ER| =HOELUL | BIGHE NN Y 28.15 28.17 56.32 1
32 |BFIER| ToELUL | BiERES Wi v 28.57 28.15 56.72 2




